20288 =& 2

H £ 0l & AF & S

| eI BHIS

fou

Al A

M HUSH
A QIMAR 23 Y
&elr XNSZM 243t (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
ZH WSt 21,123,809 21,004,902 28,907
= 1,799,585 1,718,335 81,250
[ 2,820,560 2,918,600 298,040
| 87,458 87,458 0
£ 96,000 0 9,000
= 1,829,306 1,651,065 178,241
= 14,490,900 14,719,444 N228,544
QAN 53t 2L 4,023,277 4,206,358 183,081
= 85,840 4,590 81,250
[ 1,205,000 1,355,000 A 150,000
== 176,147 186,563 A~ 10,416
= 2,556,290 2,660,205 103,915
XNSBH st 4,023,277 4,206,358 ~183,081
= 85,840 4,590 81,250
s 1,205,000 1,355,000 A 150,000
S 176,147 186,563 A 10,416
s 2,556,290 2,660,205 103,915
HSANE BSMLAE 213,440 221,440 28,000
201 Zet2& ] 196,500 205,500 A9,000
01 AtR2telbl 83,500 92,500 A9,000
OESAIE A2AIE 2F2te 6,000 10,000 A4,000
OHSAE &9 22 7Y 1,000 6,000 25,000
405 KHAHF SH 1,000 0 1,000
01 ML ESFH SHI 1,000 0 1,000
Oaels 235 7€ 1,000 0 1,000
HSAIE AL USIALS 128,000 156,000 228,000
207 AR 22,000 50,000 228,000
01 22 EAH| 22,000 50,000 A28,000
OANMEAE SEIILN HRZA 22,000 50,000 28,000
HEAE SH3HEX) 29,000 18,000 11,000
(= 1,890 1,890 0
ik 27,110 16,110 11,000
307 212t01 & 29,000 18,000 11,000
== 1,890 1,890 0
= 27,110 16,110 11,000
02 QI HAANEE X 29,000 18,000 11,000
OHEANE 2t&A K& 18,000 7,000 11,000
= 1,890 1,890 0
= 16,110 5,110 11,000
SSAIE SFHSH K& A 6,000 7,400 1,400
(= 3,000 3,700 2700
[ias 3,000 3,700 AT00
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307 QI2HOl A 6,000 7,400 21,400

= 3,000 3,700 AT700

ik 3,000 3,700 A700

02 QIZHAAAHE X 6,000 7,400 21,400

OFSANE SHSH KJAA 6,000 7,400 21,400

= 3,000 3,700 AT700

= 3,000 3,700 A700

20238 =28 FHIAMY 179,375 0 179,375

= 81,250 0 81,250

i 98,125 0 98,125

401 AIEHIZL 28I 179,375 0 179,375

= 81,250 0 81,250

ik 98,125 0 98,125

01 AlIEHI 179,375 0 179,375

OL=dH FHIAHY 179,375 0 179,375

= 81,250 0 81,250

= 98,125 0 98,125

AL EHE 29 3,037,350 3,425,850 388,500

s 1,205,000 1,355,000 A 150,000

= 113,840 128,000 A 14,160

= 1,718,510 1,942,850 A224,340

201 ZEt2 & 627,350 715,850 288,500

01 Ar2eltl 605, 150 693,650 288,500
OYaAE &FH NI

11582, 110,0000H 242,650 277,150 234,500

OSEHMZE & 22| 7,000 12,000 25,000

OYAAE MZH HOi 28 OlX==Z 316,500 361,500 245,000

OYaAE 453 HOIEH MBlA =2 3,000 7,000 24,000

301 Et2E = 2,410,000 2,710,000 300,000

s 1,205,000 1,355,000 A 150,000

= 113,840 128,000 A14,160

i 1,091,160 1,227,000 A135,840

14 J|EIE2 &S 2,410,000 2,710,000 A300,000

OYLAANSAZTH SBHH X5 2,410,000 2,710,000 A300,000

s 1,205,000 1,355,000 A150,000

L= 113,840 128,000 A14,160

i 1,091,160 1,227,000 A135,840

24E01 K& 149,000 101,000 48,000

306 E¢= 68,000 50,000 18,000

01 &¢3 68,000 50,000 18,000

Ogaz A4zl X ESME =63 68,000 50,000 18,000

307 212t01& 80,000 50,000 30,000

08 OIXtEXN S 80,000 50,000 30,000

_140_




A ZHLSW

M QIMAR s A

&elr XNSZM 243t (SH9 H2)
SA - B SA(3) - MRAY - BES O &0 p/IE- - HimE=ET

| Oz 2430 XAXS 0IXEH 80,000 50,000 30,000

el B3 N 19,744 15,300 4,444

2 4,59 4,59 0

= 7,657 3,213 4,444

= 7,497 7,497 0

201 Yer2 | 19,744 15,300 4,444

2 4,590 4,59 0

= 7,657 3,213 4,444

2 7,497 7,497 0

01 Al 22lb| 19,744 15,300 4,444

OHEIIAYL 243 K& 19,744 15,300 4,444

= 4,59 4,59 0

= 7,657 3,213 4,444

2 7,497 7,497 0

ERENVEPIVER=S 1,885,636 1,934,636 249,000

2 1,060,065 1,080,065 0

= 17,543 28,493 A10,950

= 808,028 846,078 38,050

MR B2 N 1,885,636 1,934,636 49,000

2 1,060,065 1,080,065 0

= 17,543 28,49 A10,950

= 808,028 846,078 38,050

ATHAOILA K] =SR2 AT 31,170 80, 170 49,000

= 5,220 16, 170 A10,950

= 25,950 64,000 38,050

402 QIHRH=0IH 31,170 80,170 49,000

= 5,220 16, 170 210,950

= 25,950 64,000 38,050

02 QI AL 2 Z (01 TH ) 31,170 80, 170 249,000

OATHAOILA T AT RAS 31,170 80,170 49,000

= 5,220 16, 170 A10,950

2 25,950 64,000 38,050

Doy AL 1,938,730 1,839, 145 9,585

2 720,500 668,540 51,960

= 494,792 480,267 14,525

2 723,438 690,338 33,100

Nl BE 1,938,730 1,839, 145 9,585

2 720,500 668,540 51,960

= 494,792 480,267 14,525

2 723,438 690,338 33,100

IESEIEFEP 150,000 50,000 100,000

= 75,000 25,000 50,000

= 22,50 7,500 15,000
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S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
= 52,500 17,500 35,000
307 212t01 & 150,000 50,000 100,000
s 75,000 25,000 50,000
= 22,500 7,500 15,000
i 52,500 17,500 35,000
02 QIZHAAAHE X 150,000 50,000 100,000
On271d SEAIL (Z2F0H) 150,000 50,000 100,000
s 75,000 25,000 50,000
& 22,500 7,500 15,000
= 52,500 17,500 35,000
NE=Ed dEdiel At 231,610 232,025 A415
s 80,500 78,540 1,960
& 14,670 15,145 ANAT5
i 136,440 138,340 21,900
307 QI2H0| A 101,050 101,465 A415
= 43,750 41,790 1,960
= 7,320 7,795 A4T5
= 49,980 51,880 21,900
02 QIZHALAIHE L 101,050 101,465 A415
Osggel ZEdXtel At 25,250 26,015 AT65
s 12,500 10,890 1,610
= 2,270 2,745 YAY(
= 10,480 12,380 21,900
OHHUE A g43t FFL RIS 2,500 2,150 350
s 1,250 900 350
= 250 250 0
= 1,000 1,000 0
S MAHH 5 2,959,300 2,949,300 10,000
= 580,000 580,000 0
L= 186,500 186,500 0
= 2,192,800 2,182,800 10,000
SASX QlEer i 2,959,300 2,949,300 10,000
= 580,000 580,000 0
= 186,500 186,500 0
= 2,192,800 2,182,800 10,000
SMYsENs SKAIE 40,000 30,000 10,000
307 2I2+01™ 40,000 30,000 10,000
08 OIXtEXNZ 40,000 30,000 10,000
Os2J|d S4X3 0IXME2dEZ KA 40,000 30,000 10,000
g =& oHFy 659,324 659,324 0
s 195,060 195,060 0
= 27,182 25,382 1,800
ik 437,082 438,882 21,800
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A& LXtelot 659,324 659,324 0
= 195,060 195,060 0
= 27,182 25,382 1,800
= 437,082 438,882 21,800
MBS XE(MII2ER) 18,000 18,000 0
s 13,500 13,500 0
= 3,150 1,350 1,800
= 1,350 3,150 A1,800
307 212t01& 18,000 18,000 0
s 13,500 13,500 0
& 3,150 1,350 1,800
= 1,350 3,150 21,800
02 It AAIE 2L 18,000 18,000 0
OAEIRD Y X2 (MIIBEE) 18,000 18,000 0
s 13,500 13,500 0
= 3,150 1,350 1,800
ik 1,350 3,150 21,800
WEMHIA EAMAH 2= 9,347,849 9,260,690 87,159
= 73,680 73,680 0
s 700,000 700,000 0
| 87,458 87,458 0
£ 96,000 0 96,000
= 927,142 743,860 183,282
= 7,463,569 7,655,692 A192,123
tsns =p1H] skt 7,305,249 6,713,190 592,059
= 73,680 73,680 0
s 700,000 700,000 0
| 87,458 87,458 0
£ 96,000 0 96,000
= 927,142 743,860 183,282
i 5,420,969 5,108,192 312,777
ws CHEAlE XI& 1,291,460 1,024,860 266,600
£ 96,000 0 96,000
ik 1,195,460 1,024,860 170,600
101 Q124H| 112,000 78,400 33,600
04 JRHHZ2Z2REE S 112,000 78,400 33,600
OFML2H =Xt & S22 2124 112,000 78,400 33,600
201 ZEet2& ] 277,500 237,500 40,000
01 ArR2eltl 155,500 115,500 40,000
O=H SolxrdE HeJAlE &X ALY 40,000 0 40,000
401 Al B 20| 901,960 708,960 193,000
£ 96,000 0 96,000
i 805,960 708,960 97,000
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M NSMHIA EEUA 2=
ol Hsus FUES skt EER=E)
SA BB GR(B) - HSAY - BES Ofl 7| H o HnE2
01 AlZHI 898,000 705,000 193,000
OS8FE1t RAUHSZAAY =2 18,000 20,000 »2,000
O0el0IE22 -9 S EEtel EXIAE 120,000 0 120,000
= 60,000 0 60,000
= 60,000 0 60,000
OADIE EHEE Z&AY 75,000 0 75,000
£ 36,000 0 36,000
T 39,000 0 39,000
SAlled A2 1,743,494 1,700,000 43,494
= 510,000 510,000 0
z 1,233,494 1,190,000 43,49
307 2I2t01 1,743,494 1,700,000 43,494
= 510,000 510,000 0
= 1,233,494 1,190,000 43,494
0 2=EHEXS 1,743,494 1,700,000 43,494
O8IlLd o84 1,743,494 1,700,000 43,494
z 510,000 510,000 0
s 1,233,494 1,190,000 43,494
HATHE XI& ALY 1,093,662 910,380 183,282
[ 410,532 227,250 183,282
= 683, 130 683,130 0
307 2Ito1d 1,093,662 910,380 183,282
< 410,532 227,250 183,282
= 683, 130 683, 130 0
2+UANEES 1,093,662 910,380 183,282
OAHsEHA HEXI ALY 1,021,134 910,380 110,754
< 338,004 227,250 110,754
= 683,130 683,130 0
OAUHsSEHA HEXIKAIS (QHEIE) 72,528 0 72,528
< 72,528 0 72,528
PNEN SSHAXH 196,000 46,000 150,000
402 RIZEAHZ01H 196,000 46,000 150,000
01 RIS ASE X (XM THR) 196,000 46,000 150,000
OLINEA SEHA 7Y 150,000 0 150,000
NSAHAE JI=HE =8 55,800 129,800 AT74,000
207 ARl 55,800 129,800 AT4,000
01 H1ESHI 55,800 129,800 AT4,000
OYAZ sHEHA B4 AXIEAL 18,000 20,000 ~2,000
OYAZ sHEHA SH8E L SFH E
gd XA 0 70,000 70,000
Ogaz sHEHA SEAHNET =AM 18,000 20,000 22,000
WSAR OlSHS STAL(DI2) 304,652 302,397 2,255
pJ 87,458 87,458 0
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M NSMHIA EEUA 2=
ol Hsus FUES skt (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
= 217,194 214,939 2,255
307 2I2t01 304,652 302,397 2,255
) 87,458 87,458 0
= 217,194 214,939 2,255
05 2IR”IRIE =2 304,652 302,397 2,255
OSgus=t oAbl XA (0I=2) 268,652 266,397 2,255
2l 65,858 65,858 0
T 202,794 200,539 2,255
wWSAX olsHe SEAH(=HI) 79,760 44,760 35,000
= 22,380 22,380 0
z 57,380 22,380 35,000
307 2I2t01 79,760 44,760 35,000
= 22,380 22,380 0
= 57,380 22,380 35,000
05 2IZtAEZ 79,760 44,760 35,000
OSgust D238 XJ(=HI2X) 79,760 44,760 35,000
= 22,380 22,380 0
s 57,380 22,380 35,000
SHAIZRE XA 3,900 13,000 29,100
= 3,900 3,900 0
= 0 9,100 29,100
307 2Ito1d 3,900 13,000 29,100
= 3,900 3,900 0
= 0 9,100 29,100
B 2=gHEXS 3,900 13,000 29,100
OBAl XtE2Z Xt EaAY 3,900 13,000 29,100
= 3,900 3,900 0
= 0 9,100 29,100
BAN23 Hex2 KA 10,600 15,600 5,000
[ 4,680 4,680 0
= 5,920 10,920 A5,000
307 2Ito1H 10,600 15,600 25,000
< 4,680 4,680 0
= 5,920 10,920 25,000
09 2+ AHAELES 10,600 15,600 25,000
OHAIRS HesE KIZAY 10,600 15,600 25,000
< 4,680 4,680 0
= 5,920 10,920 5,000
HSMNS2e A 42,053 42,500 NA4T7
202 04l 2,053 2,500 447
04 =XIS+0IH] 2,053 2,500 N447
O=9e ddNS23t HXI0HR 2,053 2,500 N447
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A - 3 - S2A(FH) - MRAY - BES (1;| Palgely J 3 N Hnsz2

Q20223 KSASASH LYHXAAISE S

Pl = U Nl 4= 29,612 0 29,612
O202138 ATHAHOIH X STt R ALY &

SHEAHOH O O KpEte 5,022 0 5,022
Q20223 A3 ED Y LXIEIEEAR Ol KHEE

=1 57 0 57
O2022E AS| &S AISIBEHE XA &

SHALOH Bt 846 0 846
020228 A& DY AISI2EHES XIJ ALY 0

Aterd 2 0 22
02 Al - EHIEX=38ES 101,211 85,022 16,189
Q023 E KNG SSH LAtelArY T EAoH

Sla=1 1,443 0 1,443
Q028 & XNIFESH LAte|lAtS Ol XHe A

o gy 131 0 131
O20224 Al=E FSRIAAFY O ArHagon gt

= 17 0 17
Q20223 ASIED Y LRIEIEEAMY THE

o gt 1,250 0 1,250
020223 A &I LXte|&EHSAIY Ol R+ Bt

=1 6 0 6
020228 A& DY AISIE2EHESXJAIE &

SHELOH Bt 85 0 85
O20224 AIS| &= Y AISIBE S XA 0]

Attt 3 0 3
Q20223 MEAE SHHSH JHAXRI2AE &

SHALOH Bt 1,102 0 1,102
020223 HMSAE StMSH L XHAE &

AO|XHEH 3 0 3
Q20223 SE83t 0 YESHAIY THSH I

O| XteH gt 430 0 430
020223 s J|=01x [2IAFS Ol Rt

oH BfLt 2 0 2
Q20223 Al 2B AL 2dss K& AS

TIGHAION 9f O XtoH BHe 807 0 807
Q20223 s0HE SNSEH SSEA| XI2A

of O|X}oH B 2 0 2
O2022E SHAIRE IESAZ XA &

ZHOH QI Q| K}OH Bt 43 0 43
O20224E SARE ItEsrT RJAAIY S

&how gl Q| KpeH Bt 3,454 0 3,454
Q2218 s0E S NS SSEA| XI2A

A O XtH B 75 0 75
Q20198 s0E NS SSEIAl XI&A

of EISHEIOH QI OI KioH Bt 1,335 0 1,335
020194 SAIRZ IIESAE XIJAAIY &H

KHoH Gl O XpoH Bt 27 0 27
Q20223 MAHA 24BAHA 213 = K&

AR ZIEHREOR Bt 4,800 0 4,800
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SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
02022 HAMHA 2SALL 2ldzs X
At OIAL BHef 37 0 37
Ost2XsSit SYXDX ALXJ EZAY
Ol Rere 1,117 0 1,117
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